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/01020 34545 6 7879:;<= > ;79
X = 4, 8, 10, 13, 16
p = a, 36, 49, 38, 5
M(X) = 10.3636

/01020 345? 5 6 @A @9:; BC @D79
X = 5, 6, 10, 12, 15
p = 8, 38, a, 36, 7
M(X) = 9.3704

/01020 3453 5 E :9< FA7GA @9
X = 4, 8, 11, 14, 17
p = a, 40, 52, 42, 14
M(X) = 11.0375

/01020 345H 5 I7J 7KL<9 F 7A @M <N
X = 3, 8, 11, 13, 15
p = 2, 41, 47, a, 8
M(X) = 10.7388

/01020 345O 5 P :Q:R:M :; SA @LQ@N
X = 4, 8, 10, 13, 17
p = a, 41, 48, 40, 14
M(X) = 10.5828

/01020 345T 5 U 7AVK @; >AWX
X = 4, 7, 9, 14, 16
p = 11, a, 40, 36, 8
M(X) = 9.7279

/01020 345Y5 U :M G<9 S9C:9
X = 4, 6, 10, 13, 17
p = 2, a, 46, 38, 6
M(X) = 10.0315

/01020 345Z 5 [ :Q@9L: SA @LQ@N
X = 3, 8, 11, 13, 16
p = 4, 42, 44, a, 9
M(X) = 10.6617

/01020 345\ 5 ] 78:J :;7 B;@CA797
X = 4, 7, 10, 13, 16
p = 8, 34, a, 34, 11
M(X) = 10.1353

/01020 3454^ 5 _ @N879:; `aG;<R
X = 4, 7, 9, 14, 17
p = 3, a, 47, 40, 9
M(X) = 10.4470

/01020 345445 BCM b=L:; cM <N
X = 3, 6, 10, 12, 17
p = a, 32, 46, 33, 8
M(X) = 9.7787

/01020 3454? 5 d<J :e@@;7 d7CWX97
X = 4, 7, 10, 13, 16
p = 9, 33, a, 36, 6
M(X) = 9.9291

/01020 34543 5 f=7@; _:J 79
X = 3, 7, 11, 13, 16
p = 8, a, 44, 37, 13
M(X) = 10.4500

/01020 3454H 5 g @QC7L:; F <LC:M
X = 5, 6, 10, 13, 15
p = a, 31, 41, 34, 9
M(X) = 9.7460



/01020 3454O 5 ] 78:J :; F h
X = 5, 7, 10, 12, 16
p = 6, 33, 43, a, 12
M(X) = 10.1439

/01020 3454T 5 E 7R<X9:; i
X = 3, 6, 9, 13, 16
p = a, 30, 43, 40, 8
M(X) = 9.9268

/01020 3454Y5 jM kb9:;
X = 4, 8, 11, 13, 15
p = 7, a, 44, 41, 9
M(X) = 10.7556

/01020 3454Z 5 l mn onmp
X = 5, 8, 9, 13, 17
p = 11, 39, a, 31, 8
M(X) = 9.7664

/01020 3454\ 5 SMJ 79Gb qh
X = 4, 8, 11, 13, 16
p = 4, 37, 51, a, 3
M(X) = 10.5846

/01020 345?^ 5 Bb9W rkXQa79W
X = 3, 7, 10, 13, 17
p = 2, 39, a, 33, 7
M(X) = 10.1349


